SEAT FRAME - TILT & RECLINE

[10/2011]

NOTE: EFFECTIVE 4/21/03 STARTIING S/N S64-034729.

Pos.

© 00 NoO o0 WN B

W W WO RN RN NMNNNONNNDE B P PR P B P
NP O ®©®O®NOURWNERO®©®O®ONO®OMWLEO

32A
33
33
33
33
33
33

Item Number Description

223121
262141
349598
481466
117829
226064
106943
227110
542162
481419
221097
505929
481418
105787
226218
106944
221012
226064
202300
106943
226247
221092
740142
481106-QU
222230
263100
202116
202117
226188
502270
505609
505623
542500
542501
542502
542503
542504
542505

3/8-16 x .75 HEX HD C/S W/PATCH
3/8 LOCK WASHER

BEARING IGUS 5/8 x 3/4 x 1/2

REC PIVOT BOSS

REAR PIVOT POST ADJ

1/4-28 x 3/4 BH C/S BLK W/PTCH
WASHER FLAT AN 1/4 ROHS

1/4-28 x 1 BH C/S BLK ZN

REAR PIVOT POST ADJ MOUNT
1/4-28 CHANNEL NUT 1.75" SP
1/4-28 x 5/8 HEX C/S BZ

HOME SWITCH BRACKET

1/4-28 CHANNEL NUT .80" SP

PRSD A/A LATCH BLOCK NUT ASSM
5/16-18 x 1 3/4" BH C/S BLK
WASHER FLAT THIN AN 1/4 ROHS
1/4-28 x .44 SHCS BLK W/PL

1/4-28 x 3/4 BH C/S BLK W/PTCH
1/4-28 NYLOCK NUT THIN BLK ZN
WASHER FLAT AN 1/4 ROHS

1/4-28 x 5/8 B/H C/S BLACK G5
1/4-28 x 7/16 BH CS BLK W/PTCH
SUPPORT STRAP T & R ACTUATOR
1/4-28 CHANNEL NUT

5/16-18 x 3/4 HEX C/S G8

5/16 AN WASHER FLAT

5/16-18 NYLOCK NUT THIN BLK
5/16-18 NYLOCK NUT THICK BLK
5/16-18 x 1 FH C/S

PIVOT BRKT ADJ REAR

REAR LOWER MULTI CLEVI WLDMNT
REAR LWR MLT CLVS MNT TRAY LRG
14W TILT CHNNL WLDMT (.5) TUBE
15W TILT CHNNL WLDMT (.5) TUBE
16W TILT CHNNL WLDMT (.5) TUBE
17W TILT CHNNL WLDMT (.5) TUBE
18W TILT CHNNL WLDMT (.5) TUBE
19W TILT CHNNL WLDMT (.5) TUBE

Pos.

33

33

33

33A

33A

33A

33A

33A

33A

33A

33A

33A

34

35

36

12,34
12,34
12A,34
12A,34
1-6,8-11,21
17-33
17-33
17-33
17-33
17-33
17-33
17-33
17-31,32A,33
17-31,32A,33
17-32,33A
17-32,33A
17-32,33A
17-32,33A
17-32,33A
17-32,33A
17-32,33A

Item Number Description

542506
542507
542508
542530
542531
542532
542533
542534
542535
542536
542537
542538
567003
139449
221090
660180S
660181S
660182S
660183S
885115
885220
885221
885222
885223
885224
885225
885226
885227
885228
885229
885230
885231
885232
885233
885234
885235

17-31,32A,33A 885236
17-31,32A,33A 885237

20W TILT CHNNL WLDMT (.5) TUBE
22W TILT CHNNL WLDMT (.5) TUBE
24W TILT CHNNL WLDMT (.5) TUBE
TILT CHANNEL WLDMNT 14W LONG
TILT CHANNEL WLDMNT 15W LONG
TILT CHANNEL WLDMNT 16W LONG
TILT CHANNEL WLDMNT 17W LONG
TILT CHANNEL WLDMNT 18W LONG
TILT CHANNEL WLDMNT 19W LONG
TILT CHANNEL WLDMNT 20W LONG
TILT CHANNEL WLDMNT 22W LONG
TILT CHANNEL WLDMNT 24W LONG
END PLUG OVAL

HOME SWITCH TILT ONLY

1/4-28 x 3/8 BH C/S BLK

FLRD SEAT RAIL ASSM STD L S626
FLRD SEAT RAIL ASSM STD R S626
FLRD SEAT RAIL ASSM LNG L S626
FLRD SEAT RAIL ASSM LNG R S626
REAR PIVOT POST ADJ ASSM TR
TILT CHNNL WLDMNT ASSM 14W STD
TILT CHNNL WLDMNT ASSM 15W STD
TILT CHNNL WLDMNT ASSM 16W STD
TILT CHNNL WLDMNT ASSM 17W STD
TILT CHNNL WLDMNT ASSM 18W STD
TILT CHNNL WLDMNT ASSM 19W STD
TILT CHNNL WLDMNT ASSM 20W STD
TILT CHNNL WLDMNT ASSM 22W STD
TILT CHNNL WLDMNT ASSM 24W STD
TILT CHNNL WLDMNT ASSM 14W LNG
TILT CHNNL WLDMNT ASSM 15W LNG
TILT CHNNL WLDMNT ASSM 16W LNG
TILT CHNNL WLDMNT ASSM 17W LNG
TILT CHNNL WLDMNT ASSM 18W LNG
TILT CHNNL WLDMNT ASSM 19W LNG
TILT CHNNL WLDMNT ASSM 20W LNG
TILT CHNNL WLDMNT ASSM 22W LNG
TILT CHNNL WLDMNT ASSM 24W LNG

QUICKIE S646/S646SE/S636/S626

PAGE 1




	SEAT FRAME - TILT & RECLINE

